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SECTION 1
Time—30 minutes
30 Questions

Numbers: All numbers used are real numbers.
Figures: Position of points, angles, regions, etc. can be assumed to be in the order shown; and angle measures

can be assumed to be positive.
Lines shown as straight can be assumed to be straight.
Figures can be assumed to lie in a plane unless otherwise indicated.

Figures that accompany questions are intended to provide information useful in answering the ques-
tions. However, unless a note states that a figure is drawn to scale, you should solve these problems
NOT by estimating sizes by sight or by measurement, but by using your knowledge of mathematics (see
Example 2 below).

Directions: Each of the Questions 1-15 consists of two quantities, one in Column A and one in Column B. You
are to compare the two quantities and choose

A if the quantity in Column A is greater;

B if the quantity in Column B is greater;

C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Note: Since there are only four choices, NEVER MARK (E).

Common

Information: Ina question, information concerning one or both of the quantities to be compared is centered above
the two columns. A symbol that appears in both columns represents the same thing in Column A as it
does in Column B.

Column A Column B Sample Answers
Example I: 2X6 2+6 SOOO®D
Examples 2-4 refer to A PQR. R
%)
2
wo/z°
P N Q ,
Example 2: PN NQ @ O® ®

(since equal measures cannot
be assumed, even though PN
and NQ appear equal)

Example 3: x y O NOIOIG)
(since N is between P and Q)

Example 4: w+z 180 DO @D ®
2 i (since PQ is a straight line)



A if the quantity in Column A is greater;

B if the quantity in Column B is greater;

C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Column A Column B Column A Column B
xy <0 s+t=6
x y 6. s * 2t 2s + ¢t
(0.3 (0.03)* John is exactly 3 years younger than Sue, and Sue is
exactly 4 years older than Kim.
x>3 7. John’s age now Kim’s age one year
from now
1 1
X '+'3 X, — 2
The circumference of circle P is greater than the
circumference of circle Q.
. The radius of circle P The diameter of circle Q 140°/y°
Y/ (Bx — 4y
In Town X the population increased from 20,000
in 1960 to 30,000 in 1980. In Town X, the popula-
tion under age ten in 1960 was 2,500, and in 1980
the population under age ten was 10 percent of the
population. 8 e y
. The increase in the 600

population under age -
ten in Town X from Hoe = 18y
1960 to 1980 9 i 3y

GO ON TO THE NEXT PAGE.



A if the quantity in Column A is greater;
B if the quantity in Column B is greater;
C if the two quantities are equal;
D if the relationship cannot be determined from the information given.
Column A Column B Column A Column B
A The average (arithmetic mean) of 10 numbers is 52.
! When one of the numbers is discarded, the average
¢(6.5) of the remaining numbers becomes 53.
]
-0k ;N 2 13. The discarded number 51
@43 i(ab)
]
I i-, D Circles R, S, and T are in the same plane, have
0 .4 a common center, and have radii r, s,andr + s,
respectively, where 0 < r <s.
10. a b 14. The area of the region ns?
whose boundary consists
A of circles R and T
1. J3 5
n is an even integer.
A
s 15. The number of different The number of differ-
3 prime factors of n ent prime factors of 2n

The perimeter of the rectangle is 16.

12. The area of the rectangular 12
region

GO ON TO THE NEXT PAGE.




Directions: Each of the Questions 16-30

answer choices given.

has five answer choices. For each of these questions, select the best of the

16. A dresser drawer contains 15 garments. If 40 percent

17.

of those garments are blouses, how many are not
blouses?

(A) 6
(B) 8
< 9
(D) 10
(E) 12

1 1. 1 .
|+§+§+z+§—-

7

W3 @Y o2 ol L

50 B %o

. The length of a rectangular floor is 16 feet and its

width is 12 feet. If each dimension were reduced
by s feet to make the ratio of length to width 3 to
2, what would be the value of s ?

A) 0
(B) 2
€ 4
(D) 6
(E) 8

19.If y =20"9? and x =3, then y =

20.

A) 8
(B) 16
© 32
(D) 64
(E) 128

17

How many even integers are between % and % ?

(A) Nine
(B) Eight
(©) Six

(D) Five
(E) Four

GO ON TO THE NEXT PAGE.



Questions 21-25 refer to the following graphs.

DISTRIBUTION OF EARNINGS AND REVENUES FOR COMPANY X, 1978-1983
ELECTRONIC AND NONELECTRONIC OPERATIONS

(1 billion = 1,000,000,000)

Total Earnings Total Revenues
(in millions of dollars) (in billions of dollars)
$700 |
$600 I Nonelectronic
$500 S
L Electronic
$400

$300
$200
$100

Distribution of Earnings from Nonelectronic Operations, 1983
(in millions of dollars)

Cosmetics

Financial

Office Products

Hardware

Food Beverages

Note: Drawn to scale.

GO ON TO THE NEXT PAGE.



21.

22.

23.

Total earnings from operations in 1982 were approx- 24. For the two years in which earnings from electronic
operations were most nearly equal, the combined
earnings from nonelectronic operations were most

imately how much more than total earnings from
operations in 1978 ?

(A) $100 million
(B) $125 million
(C) $180 million
(D) $340 million
(E) $475 million

For the year in which earnings from electronic oper-

ations first exceeded $400 million, total revenues 25.

were approximately

(A) $2.8 billion
(B) $4.5 billion
(C) $5.2 billion
(D) $5.8 billion
(E) $6.7 billion

In 1979, total earnings for Company X were
approximately what percent of total revenues?

(A) 1%
(B) 5%
(C) 10%
(D) 15%
(E) 60%

nearly

(A)  $340 million
(B)  $520 million
(C) $670 million
(D) $780 million
(E) $1,520 million

In 1983 earnings fr

om financial nonelectronic

operations accounted for approximately how
many millions of dollars?

(A) 312
(B) 300
(C) 180
(D) 140
(E) 120

GO ON TO THE NEXT PAGE.



26.

27.

28.

If k is an integer and sk < 20,000, what is the
greatest possible value of & ?

(A)6 (B)7 (C)8 (D)9 (E) 10
R S
0 T
6| 3¢ |16
P U

In the figure above, region PQRSTU consists of
three square regions and two triangular regions. If
the square regions have areas 16, 36, and 16, what
is the perimeter of PQRSTU ?

29.

What is the area of the quadrilateral shown above?

(A) 2\/3
(B) 3./3
©) 6/3
(D) 6
(E) 8

- 30. If the length of each of the sides of three square gar-
(A) 22 + 4\/—5— den plots is increased by 50 percent, by what percent
(B) 28 + 2\/5> is the sum of the areas of the three plots increased?
(©) 28 +4/5 (A) 375%
(D) 34 +2./5 (B) 200%
(C) 150%
(E) 34 + 4/5 (D) 125%
(E) 50%
If x is a nonzero integer, which of the following
must be a negative integer?
I. —(3x?+ 4)
1. =(—x)
mr. (—x)
(A) None
(B) I only
(C) III only
(D) I and III only
(E) L, 11, and IIT

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS SECTION ONLY.
DO NOT TURN TO ANY OTHER SECTION IN THE TEST.

8



SECTION 2

2 Time— 30 minutes S

25 Questions
Directions: Each question or group of questions is based on a passage or set of conditions. In answering some of the
questions, it may be useful to draw a rough diagram. For each question, select the best answer choice given.

Questions 1-5

An old painting portrays a seated jury of exactly six
persons arranged in two parallel rows of three persons
each. Each person in the back row is directly behind
one person in the front row. The positions of the six
jurors, numbered 1 through 6 by historians, appear

in the painting as follows:

Back row, left to right—4 56
Front row, left to right—123

Inscribed on the back of the paintings are the names

of exactly five persons— Urquart, Vere, Winters, Young,
and Zeno. The historians know that each of these five
persons is a juror portrayed in the painting. The name
of the sixth person in the painting is unknown. The

only additional information that historians have comes
from letters of the time, which indicate the following:

Zeno is in position 5.
Young is directly behind Winters.
Urquart is not in the same row as Vere.

1. If the jury’s front row is made up, from left to right,
of Urquart, the juror whose name is unknown, and
Winters, which of the following must be true?

(A) Vere is in position 4.
(B) Vere is in position 5.
(C) Vere is in position 6.
(D) Young is in position 4.
(E) Young is in position 5.

2. If one of the two rows is made up, from left to right,
of Winters, the juror whose name is unknown, and
Vere, then Urquart must be in position

3. If Urquart is directly in front of Zeno, which of the

following must be true? ¥

(A) Vere is in position 4.

(B) Vere is directly behind the juror whose name
is unknown.

(C) The juror whose name is unknown is in posi-

. tion 1.

(D) The juror whose name is unknown is in posi-
tion 6.

(E) The juror whose name is unknown is directly
behind Vere.

. Which of the following jurors must be in the same

row as Zeno?

(A) Urquart

(B) The juror whose name is unknown
(C) Vere

(D) Winters

(E) Young

. Which of the following, if it could be established,

would allow historians to determine the positions
of all other jurors portrayed in the painting?

(A) The juror whose name is unknown is in
position 1. .

(B) Vere is in position 2.

(C) Vere is in position 3.

(D) Winters is in position 1.

(E) Young is in position 6.

GO ON TO THE NEXT PAGE.



